-. a5l ggr,’lz//{j%‘
| %Mh’é}(w;,

* 7<'=2_N>£ ( Mear)

_*‘ w-m = W 7] #W&;(_Z* Wg_x—s """
W% Wk ws - --— -

.,%—j[{c/fan fq;;fon = _a‘i:_‘_

"
' Range = (from-1to) = G;c" ﬁfw) rage )\ &g«f'éobjdﬂusﬁ
- gb

¥ Pcce«\{'ilt valve = P_ % (n+1)th pas;'}'l‘cm-

oo

X & = 2 (x-1) (arance)

dogee N -
Feslom.
We iSD = Z(K—Z >2_
n -1

¥ t1sD = 837

£+ T2 3D > 54 |= whhi

+E£2s5D 244!
I 15D 32/

2 = o ther SD
AT 250 =» 5% =
st 35D => 1

y




p €= D
' I
qb ?o‘)alcclm mean (V) = .J_(-_-Q;Q.S-E * withia 951 &

= X & \46sE

* ?GP“IGHNL meon (M) = X S-E * wc"HLl}l. ql. >
= X

¥ Systematic Samphng = Min S of”‘:e:'dfﬁ:w b e »

o Relebi eqrengy = ﬁfﬂ%&mﬁfﬁiﬂf%

L %/cenjraye > Rletice w@eway’é{e 100 -




